Variables in the script: 
Entering a price to start the algorithm- at the intersection of the current price set by the user of the price, the algorithm starts working (no signals are given at the intersection of the user-set price)

stage1 
This variable is necessary for blocking 
Condition 2 : "Current price<Input price by 0.2% and stage1==0", (i.e., according to the algorithm, this condition is met only once, and each subsequent time after all variables are completely zeroed)
and activation 
Condition3: "The current price <The price of the insurance order by 0.1% and stage1==1" (i.e., until the previous condition is met and blocked, this condition will not take effect). This condition will be blocked if condition 4 "Current Price >Insurance Order price and Current Price<Entry Prices" is met

higher
This variable signals that the current price has risen above the price recorded in the "Insurance Order Price" variable, but below the price entered by the user. If this variable is higher=1, condition 3:
"The current price<The price of the insurance order by 0.1% and stage 1==1" will be blocked, since the value of the variable will change to stage1=2

Signal
This variable is necessary to understand whether there was an intersection of the current price, the price recorded in the "Insurance Order Price" variable after fulfilling condition 4:
"Current price >Insurance Order price and Current price<Input prices"
and activating further script functions
stage2
This variable works by analogy with the variable stage 1. This variable blocks 
Condition:
"Current price<price of the insurance order by 0.2% and signal==1 and stage2==0", after its execution, , (i.e., according to the algorithm, this condition is fulfilled only once, and each subsequent time after condition 4 is fulfilled "Current price>Price of the insurance order and Current price< Input prices"
and activates the condition6:
Current price<0.1% insurance order price and signal==1 and stage2==1
Conditions 1: 
Current Price>Input Prices

If this condition is met, the script resets all variables and returns to the original state.
 (In the as v5 version of the script, when this function is activated, a signal is immediately given)
Screenshot Full reset 
It is necessary to make this function by default, without the need to call.

Condition2: 
Current Price<Input price by 0.2% and stage1==0

When the price drops by 0.2% from the one entered by the user, the script writes the price to the variable "Price of the insurance order" according to the formula «Price of the insurance order=Current price+0.1%»

Note!(1.In the as v5 version of the script, the script writes the price to the "Insurance Order Price" variable, after the bar closes, the price must be written to the variable immediately when the condition is reached. 
2. Also in the as v5 version, after the condition was met, a value was written to the variable, with a further drop in the current price in the "Insurance Order Price" variable, the value also changes, while not reaching the tracking condition. The value must remain unchanged after the condition is met until the next value assignment. )Also, after fulfilling this condition, we assign a variable, stage1=1, and thereby block this condition until it is completely reset.

Condition 3: 
Current Price<0.1% Insurance order price and stage1==1
After condition 2 is met, and the current price falls further by every 0.1%, the script writes the price to the variable "Price of the insurance order" according to the formula Price of the insurance order=Current price+0.1%
Note! (the value in the "Insurance Order Price" variable must remain unchanged after the condition is met until the next assignment of the value. )
After condition 4 is met, condition 3 will be blocked since in condition 4 the variable stage1==2, the condition will be blocked until it is completely reset.



Condition 4: 
Current Price>Insurance Order Price and Current Price< Entry Prices
Assign tracking values to variables 
higher=1;stage2=0;stage1=2

Condition 5:
Current Price<Insurance Order price and higher==1
If condition 4 was met and the price began to fall again and fell below the price recorded in the variable "Price of the insurance order", only in this case we give a signal to open a position in short for sale 
Note! (Also, please work out opening a position as in the base script with the alert function)

Condition 6: 
Current price<the price of the insurance order by 0.2% and signal==1 and stage2==0
After condition 5 is met and a signal is given to open a position. When the price drops by 0.2% from the price recorded in the variable "Price of the insurance order", the script writes the price to the variable "Price of the insurance order" according to the formula Price of the insurance order=Current price+0.1%
Note! (1.In the as v5 version of the script, the script writes the price to the "Insurance Order Price" variable, after the bar closes, the price must be written to the variable immediately when the condition is reached)
Also, after fulfilling this condition, we assign a variable, stage2=1, and thereby block this condition, until the next fulfillment of condition 4 
This condition works by analogy with condition 2

Condition 7:
Current price<0.1% insurance order price and signal==1 and stage2==1
After condition 6 is met, and the current price falls further by every 0.1%, the script writes the price to the variable "Price of the insurance order" according to the formula Price of the insurance order=Current price+0.1%
Note! (the value in the "Insurance Order Price" variable must remain unchanged after the condition is met until the next value assignment. )
